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ENVIRONMENTAL STUDIES
For B.A. (Honours), B.Sc. & B.Com (Honours & General)

Time : 1 Hour

Full Marks : 50

Important Instructions

for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code :

Subject Name :

1

A

&

B

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, the write :
1. — A

® There is no negative marking for wrong answer.
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Each question carries 2 marks

2f e orag T 2

1. The pollutant responsible for creating Ozone hole is —
(A) O,
(B) SO,
(C) CFC
(D) None of the above

S| STl BIH fog AR = 25T —
(A) 0,
(B) SO,
(C) CFC
(D) ToIFF (FICAGIR |

2. The lowest layer of atmosphere is —
(A) Ionosphere
(B) Troposphere
(C) Stratosphere
(D) None

3 | AT BT [ 21 —
(A) SCACAFFR
(B) CErCstF
(C) BricoiFFaR
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3. Highest percentage of gas found in air is —
(A) Nitrogen

(B) Oxygen
(C) Carbondioxide

(D) Argon
© | @ MG IS *eHal A AT e T ©f 7o —
(A) SRCGICEH

4. ‘Rain Water Harvesting’ means —
(A) Acid rain
(B) Conservation of rain water
(C) Water of deep tubewell
(D) Irrigation water

8| ‘(FEDE BACSFHL AT —
(A) =g
(B) &R T Aol
(C) TS TEAFCAT e
(D) GTos et

5. Which one of the following is NOT a viral disease?
(A) COVID-19
(B) Chickenpox
(C) Malaria
(D) Dengue
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€| A @D SiRApTEbe @i w2 —
(A) @fCT-5»
(B) orpasis
(C) scertza

6. In which year the Indian Govt. implemented. Wild Life Protection Act?
(A) 1972
(B) 1982
(C) 1985
(D) 1992
Y| (P 2T OFC FTIE IV FEHY T2 AIG I ?
(A) S»aR

(B) svvr3
(C) s

7. Which one of the following districts of West Bengal is associated with the
conservation of Red Panda?

(A) Malda
(B) Darjeeling
(C) Midnapore
(D) Burdwan

a | AR NGRS (I (el (@O e] AR A0 IS 2
(A) et
(B) wiferfere
(C) o
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8. Earth day is celebrated on —
(A) 5th June
(B) 12th May
(C) 22nd April
(D) 25th May

v | Tl 1 Alfere 7w —
(A) €2 T
(B) 538 (M
(C) 23 @fere
D) W &

9. Acidity in rain is measured by —
(A) Barometer
(B) Hygrometer
(C) Pyrometer
(D) pH Meter

> | 3R oIl Aol I AW IR @A —
(A) WG
(B) 2Rl
(C) ARG
(D) pH fi

10. ‘Red Data Book’ is published by —
(A) TUCN
(B) UNESCO
(C) WHO
(D) WWF
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S0 ‘(AT (CORT AP FH —
(A) IUCN
(B) UNESCO
(C) WHO

11. Pollen can cause —
(A) Typhoid
(B) Malaria
(C) Allergy
(D) Cholera

55 | AMEICIY (AT 27 —
(A) TizTEe
(B) surCatfa
(C) wetifer

12. Which one of the following is used to generate atomic power?
(A) Coal
(B) Copper
(C) Bauxite
(D) Uranium
s3 | e @D AR *ife Sesime Jze 232
(A) =T
(B) or
(C) <=iZ5
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13. Which one of the following is NOT a marine pollutant?
(A) Oil
(B) Plastic
(C) Thermocol
(D) Dissolved Oxygen

o

so | WEfErRe @G Aue @ e
(A) Coot
(B) =5
(C) Qtsfist
(D) TGS SIS

14. Chernobyl disaster is a —
(A) Nuclear accident
(B) Natural disaster
(C) Pandemic
(D) None of the above

58 | (Brefifae yedtol @3 —
(A) “H=Tef o
(B) @igfes et
(C) wfostidt

15. Which one of the following is a biodiversity hotspot in India?
(A) Western Ghat
(B) Kanha
(C) Gir
(D) Kaziranga
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S D

3¢ | IHA (@0 ST G0 GRCAbE 2570 ?
(A) %% =6
(B) w112
(ORCE

16. Which one of the following is a primary consumer?
(A) Deer
(B) Frog
(C) Snake
(D) Eagle
sv | faFfeiie @I @3l e 4w ?
(A) 2ol
(B) 318
(C) ==t

17. Photochemical smog is related with —
(A) Ultraviolet ray
(B) Noise pollution
(C) Eutrophication

(D) Rain water harvesting

39| e ARTTEE P [ A TR —
(A) sforaadt afg
(B) el
(C) BTG
(D) IR oo el
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18. Man and Biosphere programme (MAB) is sponsored by —
(A) CSIR
(B) ICMR
(C) WHO
(D) UNESCO

St | Man and Biosphere programme (MAB) @< aémaw ] —
(A) CSIR
(B) ICMR
(C) WHO
(D) UNESCO

19. Scurvy may be caused by the deficiency of —
(A) Vitamin K
(B) Vitamin C
(C) Vitamin D
(D) Vitamin E

35| FfE 200 2T IR e —
(A) Foifm K
(B) feoifsm C
(C) feBIE D

20. Non-conventional energy source is —
(A) Solar power
(B) Coal
(C) Wood
(D) Petroleum
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Y0 | SEbieTe *feq Te 25 —
(A) CT=fe
(B) &

21. Essential trace element for human body is —
(A) Iron
(B) Folic Acid
(C) Zinc
(D) Calcium

33 | T (MCEF & Gl (G ol 28 —
(A) CoTit
(B) (ifers pifTe
(C) fo=

22. Which one of the following is found in emission of motor vehicles?
(A) Mercury
(B) Lead
(C) Copper
(D) Arsenic

23| AF @G @foT SN i Aewt e
(A) W
(B) STt
(C) om
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23. Which one of the following is a decomposer in an Ecosystem?
(A) Green plant
(B) Fishes
(C) Bacteria
(D) Carnivores

S e ey

yo | fTHfie @D AgecEn Wb [ess 2
(&) & e
(B) W=z
(C) =l
(D) ST @i

24. Example of a tropical rain forest in India is —
(A) Sunderban
(B) Western Ghat
(C) Both of the above
(D) None of the above

38 | ST G0 TG IBERCTT Sz 2o —
(A) JHEI
(B) “if<5w <5
(C) Toitz w2
(D) THAER @ICAMDS T
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25. Mees’ lines are related with —
(A) Calcium deficiency
(B) Vitamin C deficiency
(C) Iron deficiency
(D) Arsenic pollution

y¢ | e =iEs [ A e —
(A) IR T
(B) febifi B @z wsro
(C) SR Sre
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